
p_hand +=	
  p_card

p_hand
>	
  21

Input:	
  
d_card
p_card

F

T

start
d_hand =	
  0
p_hand =	
  0

init_deal_count =	
  0

d_hand +=	
  d_card
p_hand +=	
  p_card

init_deal_count++

init_deal_count
<	
  2

T

d_hand
==	
  21

F

Output:	
  
Dealer	
  Wins

end

p_hand
==	
  21

Output:	
  
It’s	
  a	
  draw

FT

F

T

p_hand
==	
  21

T

Output:	
  
Player	
  Wins

F

hit?

Input:	
  
p_card

d_hand
<=	
  16

d_hand +=	
  d_card

d_hand
>	
  21

F

T

Input:	
  
d_card

d_hand
==	
  p_hand

Output:	
  
It’s	
  a	
  draw

Output:	
  
Player	
  Wins

Output:	
  
Dealer	
  Wins

Output:	
  
Dealer	
  Wins

d_hand
> p_hand

Output:	
  
Player	
  Wins

T

F

F

T

T

T

F

F


